TH4403 A 228 (KER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 1942 b+
(gL HEREFST)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 14,230
F= 1,440 600 840 10 1,620 1,620 1,512
EE 3,635 200 3,435 10 1,080 1,458 648
RI& 8,620 2,480 6,140 12 1. 404 1,404 864
130340 [;£ICALA ¥ 11,160
®me 5,600 0 5,600 10 - - - 1,512 756
G 4,560 0 4,560 10 1,296 540
ERE 1,000 0 1,000 10 734
130400 15 % 2,954
H 2,450 0 2,450 10 - - - 2,268 1,566
fE 90 0 90 10 1,004
130500 [1=1F D a3 328
518 248 0 248 /] - - - 3,780 1,080
BRE 40 0 40 2 3,780
130600 |[LA A % 1,020
mE 1,020 5 1,015 5 4, 860 5,724 1,512
131100 [ 3¢ % 16,517
EE 3,632 1,650 1,982 15 1,620 972 1,458 1,188
i Ll 1,500 0 1,500 15 864
KI5 11,385 1,950 9,435 15 1,296 1,080 2,722 864
131700 |Fv Y % 36,523
=50 13,450 1,110 12,340 10 1,512 810 1,404 810
EE 21,073 3,834 17,239 10 680 1,296 648
FIEIT 2,000 0 2,000 10 1,188 972
131800 |[[(F5hAE % 3,392
EE 1,004 752 252] 0.2 6b 29 68 43
EE 900 4 896 4 2,376 2,592 918
=i 1,305 0 1,305 0.18 97 49
131910 [FH=F % 3,687
N 66 0 66 0.5 702 302
£E 123 4 120 05 302 302 265
i L 515 0 515 1 1,080 324
&Il 1,643 0 1,643 10 3,132 2,430
iR 1,065 15 1,050 5 Z. 700 3,780 1,620
= 50 0 50 1 432




TH4403 A 228 (KER)

R RENFEHIS (A15) 2B B #H

Frx ENFERHME 1942 bV
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
131950 |4 % 2,181
B 1,050 348 702 3 1,296 810 1,404 648
133400 |LAR ¥ 1,700
mE 1,700 780 920 10 2. 160 1. 296 2,160 756
134100 | A/ ¥ 17,120
E351 760 300 460 5 1,188 1,296 821
EE 4,780 1,250 3,530 5 1,512 1,188 1,836 864
iR 200 0 200 5 1,404 1,080
= 1,765 1,415 350 5 1,512 972 1,166 972
=G 9,165 4,000 5,165 5 1,728 1, 026 1,836 756
134200 |F I ¥ 4,420
—1—U-5UK 4,420 1,600 2,820 10 1, 404 1,512 1,296
134300 | %t F % 5,233
N 56 0 56 4 2,376 1,404
mE 2,447 60 2,387 /] 1,080 864 1,080 486
=t 2,342 649 1693 03 103 86 103 86
12 388 47 341 4 1,728 2,052 1,674
134400 [F<k g 12,891
£E 1,854 140 1,714 4 1,404 1,188 1,404 648
KI5 2,333 540 1,793 4 1,188 1,080 1,188 972
RER 8,656 492 8,164 [] 1, 404 1,188 1,512 648
134500 [E—<> 3 7,300
= 560 137 423| 0.15 86 81 103 70
=] 6,650 1,562 5088 0.13 90 16 86 63
135100 [LNAVIF A % 500
=40 20 10 10 Z 3. 240 3,240 2,700
EeR 20 0 20 2 - - - 2,484 1,044
135200 | B = a3 250
Faxl 230 4 226 2 Z. 376 2,700 540
135300 [E—X a3 976
A 340 60 280 2 2,160 864 2,376 702
BERS 438 188 250 ] 1,274 972 540
136100 [MAL & ¥ 25,950
FE 55 0 55 5 1,566
= 5,645 220 5,425 5 Z 376 Z, 268 2,819 972
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TH4403 A 228 (KER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 1942 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
= 20 20 0 05 162
PN 10,350 0 10,350 5 1,944 1,188
136200 | 5% ¥ 18,050
dtiEE 6,350 0 6,350 10 2,160 1,080
BR 11,700 0 11,700 10 - - - 2,354 1,307
136300 B ¥ 3 1,610
FZIE 1,510 160 1,350 10 3. 240 Z. 160 3,240 1,620
BE 100 0 100 10 1,728
136600 |f=F1= % 280
dtiEE 100 30 70 10 5,184 5,184
EE 180 180 0 10 3. 888 Z, 700
138100 [ LU =1F 3 2,679
£E 190 25 165 5 3,240
mE 1,841 42 1,799 0.2 216 248 81
138500 |L&HLE ¥ 3,288
IE54 3,282 731 2551 0.2 70 52 70 59
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TH4403 A 228 (KER)

R RENFEHIS (A15) 2B B #H

= ENFEHAE 733 LY
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240700 | @R M A A ¥ 350
BE 350 350 0 10 4,536 1. 728
241260 |[HEHH A ¥ 4,480
N 2,230 2,230 0 10 1,944 1. 620
IR 2,250 0 2,250 10 1,296 1,080
241300 [{FF 3 2,780
£E 1,080 1,080 0 10 3,456 1,944
g 1,700 1,700 0 10 3. 726 3. 348
241320 | /\¥H ¥ 1,000
eI 1,000 0 1,000 10 - - - 2,700 1,836
241450 ;B R ¥ 10,130
[N 6,200 6,200 0 10 3. 888 3,240
iR 3,930 530 3,400 10 3,888 2,862 4,104 1,728
241481 [T aky 3 3,987
3Rl 2,157 1,070 1,087 10 Z. 700 1, 620
=l 790 348 442 9 1,620 1,404 2,700 1,620
IR 1,040 250 790 5 4,320 3,456 3,024 2,268
242830 | SLYA T @ 18,182
L 18,182 8,628 9,554 20 5,124 5,616 4860
242850 | YA a3 2,944
= 2,944 1,704 1,240 20 5. 616
246000 |LV\6Z a3 29,018
£E 408 0 408| 025 410 162
®me 7 0 71 03 378
E 1,481 559 922 03 540 486 540 486
=i 3,564 928 2,637 027 410 194 475 162
kB 720 684 36 024 302 194 324 302
KI5 10,129 927 9,202 025 335 248 432 162
RER 11,436 8,571 2,865 0.25 302 184 324 184
= 5 1,273 78 1,195 0.3 432 432
247100 [7—JLA A % 400
E4 i 400 204 196] 8.5 14, 040 6. 804 14,040 8,100
248300 [EEHh 9 LVvA % 10
=40 10 10 0 10 9. 720




